
Time: 10 Minutes Paper English 8 (T-1) Total Marks: 10

2nd Month, 3rd Week, 2nd Day

Syllabus: Unit # 4: Para (Wearing seat belts...... survival by 80%) Present

Continuous Tense

Q.No.1. Choose the correct option. (3)

1. What can save lives in a vehicle?

(a) LED screen (b) back mirror (c) front mirror (d) seat belts

2.  The word "fatal" is:

(a) noun (b) verb (c) adverb (d) adjective

3. The word "prohibited" means:

(a) forbidden (b) rainy (c) an illegal act (d) not safe

4. Complete the word. "inc____dent"

(a) a (b) i (c) o (d) u

Read the given paragraph and answer the following questions.

Motorcyclists are highly vulnerable to fatal accidents. Many students use

motorcycles/cycles for going to their institutions but often they do not wear safety

helmets. Wearing helmet gives protection against severe head and face injuries in

case of an accident and increases the chances of survival by 80%.  

5. Wearing helmet increases the chances of survival by:

(a) 80% (b) 70% (c) 60% (d) 50%

6. The word "protection" is a/an:

(a) proper noun (b) abstract noun (c) countable noun (d) concrete noun

Q.No.2. (i) How can wearing a helmet increases the chances of survival in

case of accident? (4)

(ii) Why is it necessary to wear seat belt before starting journey?

Q.No.3. Put the given verbs of present continuous tense in the sentences. (3)

• Mother (peel) potatoes in the kitchen at present.

• My uncle (arrive) tomorrow.

• I (not wish) to talk about this matter at present.
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